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Angles are measured both in radians and degrees

180° is x radians

n=3. 141592653589 793238462643 383279502884 197169399 375105820974 94
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Equilateral Triangle




Pyhthagorous

a2+b?= c?
a’+1%= 2?
a’+l =14
a’=4-1
a=y3







The other special triangle is an isosceles triangle

90° 45° 45°

c?= 12412 = c =42



c?=12+12

1
sin45°=L=£
J2 2
cos45°=L=£
J2 2

cscO —_1_ secO = 1




_sind _cos6
tan@ = 050 coto sind
a2+b%= c?

a’  b?_
.

For any angle 6

c0s20 +sin%0 = 1

Another way to look at these trig functions



The famous
unit circle

=14

sin90°=1 cos90° =0



sin180°= 0 cos180°= -1



